Operaciones con Nimeros Octales (H)

62315
— 37454

1664305|30g

46714
— 31354

72303
X 40g

56155
+ 2342

Calcule cada respuesta.

1231505| 144

27214
+ 6303g

174147|514

307105|105

41104
+ 4654

4620045645

57235
— 11234

1356045|26¢

50403
X 4bg

5151
X 173

414065|565

50433
X 44g

10303
+ 37533

41625|25

53303
— 31533
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Operaciones con Nimeros Octales (H) Respuestas

62315
— 37454

22643

1664305|30g
47414

46714
— 31354

1534

72303
X 40g

351400

56155
+ 2342

10157

Calcule cada respuesta.

1231505| 144
67365

27214
+ 6303g

112244

174147|514
30175

307105105
30715

41104
+ 4654

10764

4620045645
57055

57235
— 11234

4600g

1356045| 26
420654

50403
X 4bg

2732404

5151
X 173

5077275

414064565
5654

50433
X 44g

2663545

10303
+ 37533

5003

41625|25
20715

53303
— 31533

21554
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